
https://www.passapply.com/1z0-417.html
2024 Latest passapply 1Z0-417 PDF and VCE dumps Download

 

 

 

1Z0-417Q&As

Oracle Database

Pass Oracle 1Z0-417 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/1z0-417.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

 

 

1Z0-417 VCE Dumps | 1Z0-417 Study Guide | 1Z0-417 Exam Questions                                1 / 3

https://www.passapply.com/1z0-417.html
https://www.passapply.com/1z0-417.html
https://www.passapply.com/1z0-417.html


https://www.passapply.com/1z0-417.html
2024 Latest passapply 1Z0-417 PDF and VCE dumps Download

QUESTION 1

Which is a prerequisite for using an Oracle Database Performance and Tuning solution? 

A. Linux Operating system 

B. 8 GB of memory 

C. Oracle Database Enterprise Edition 

D. Oracle Enterprise Manager 

E. deep knowledge of Oracle Storage subsystems 

Correct Answer: C 

 

QUESTION 2

Which two are functionalities of Oracle Real Application Testing? 

A. Database Replay 

B. SQL Query Sets (SQS) 

C. SQL Tuning Analyzer 

D. SQL Performance Analyzer (SPA) 

E. Real Application Cluster Replay 

Correct Answer: AE 

 

QUESTION 3

Which two statements are true about Automatic Statistics collection by the Optimizer? 

A. Statistics are collected during automatic maintenance tasks. 

B. Any fixed objects are disregarded. 

C. Any external tables are incorporated. 

D. All tables in the data dictionary are included by defaults. 

E. Statistics are gathered after table statistics are marked stale. 

Correct Answer: AE 

 

QUESTION 4
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An Oracle Database customer\\'s VP of Development mentions that they\\'ve moved to AGILE development
methodology and DevOps requires an ability to view, test, or validate performance in their own development
environment. Which two do you implement? 

A. Oracle Application Infrastructure Tester 

B. Oracle Application Testing Suite 

C. SQL Developer 

D. Oracle Real Application Testing 

E. APEX and SQL Developer 

F. Oracle Testing Pack 

Correct Answer: BD 

 

QUESTION 5

SQL Access Advisor takes database workload as input and recommends adding various access structures. Which three
does it consider the impact of adding when it generates recommendations? 

A. Materialized views 

B. Indexes 

C. Partitions 

D. Tablespaces 

E. V$ performance views 

F. Hints 

Correct Answer: BDE 
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